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1. Surviving prolonged cold requires -------.

dormancy

2. Waterlogging removes air from soil and builds -------

alluvium

3. High temperatures can predispose to -------

wilting

4. The critical temperature for wheat is -------

3áµ’C

5. Cocoa requires ___________

high temperatures

6. Which one completes these three: frost, drought, high winds -------

hailstones

7. High wind implies high rate of transpiration and -------

plant desiccation

8. Physiologic drought can come from soil -------

freezing

9. Wilting point is an extreme condition that has an opposite in -------

field capacity

10. America's dust bow period came in the -------

1930s
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